CLASS-TX

Practice Exercig@e

for sure S UCCESS...

Is the number (5+ \[5 )5 =—\/§ ) rational or irrational?

State whether —1++/2 lies in the negative or positive side on the number line.

Find the value of [;—?] b

Rationalise the denominators of the following:

) P

1
Y5442 @ s
simplify 4322 .
Ifa=3and b =S5, then find the value of a* +b”. [NCERT Exemplar]

What denominator do we obtain after rationalising the denominator of

i
— 2
75 —57
Find the value of 3/343 ~3216 .

Find an irrational number between : and e s

Write -g form of 1.999...

11,

12,

13.

14.

15.

-3

Simplify: (i) (iz—j . i) Y256

243

Jie2+io8
ot MU o nbec HOTS
T L

J2=1

\[2- T [HOTS; NCERT Exemplar]

What is the value of

If N2 =1.4142, then find the value of

q
1
If p=3and g =5, then find the value of [%+~}

q| - [HOTS; NCERT Exemplar]

If {13 py/10 = /8 +/5, then find p.
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/3 5 2 -9 3 2% p
16. Find the value of x, if Lg) (gj = (3) y 30. Express 16,523 in the form Of » where p, g are
2,
- . integers.
17. Show that (xF"1P™ x (xT)177 x (™7 ) P=1. Hnies
5H o 31 If \E =1.414 and \/5 =1.732, then find the value
18. Simplify - ... 4 3
2x+l —2% of 4 ;
o 3W3-242 334242
19. Find the value of x, if 77 x 528 = 1275,
20. Find two irrational numbers between 0.6 and 32. Ifa= "/— ,prove that:
0.65.
1l 2 3,1 2,1 1) _
21. Simplify 643 | 643 ~643 | (“ "’a_sJ_s[“ +;5)+(“+;)‘0‘
o 1 1
33. Simplify +
L+ p" ™ 4 p"™* 14 p* Y 4 p*Y
]
22. Locate the following numbers on the number R e
line. 14 p*7% 4 p?
@) 2 (i) V17 34. Prove that: “";1"‘“'* - + L
1 |
23. If ﬁ=1°414and\/§;1.732, then find the value _ +[+J§+J§+J§_1
of \/\6;.;:-1 upto three places of decimal. 35 I 9" x (3722 - 27" _ L it
(3" x2)? 729
24. Ifx, y, z are real numbers, show that il
-1, [ -1 [ -1 _
\/x 4 \/y ez e =1, 36. Evaluate «/_2“5\/_ after rationalising
29 (Y e
25. Show that et = | =L the denominator given that
% % V2 =1.414and V10 = 3.162
. -g ey % 37. Represent /8.47 on the real line.
26. Simplify | >_X7_|*,| 57 [HOTS]
72 456 | 75 x 52
27. If a=6+24/3, find the value of @ ——.  [Hors] 38. Findthevalueofaandbif:  [NCERT Exemplar]
@ V-1 _V7+1
28. Prove that: =a+b\7
. «/_ 7+1 \/_ 1
-2 -
(i) (i—) —3x8°_(L) o 7+\/_ = f~a+bJ§
= 7 5 7445
(i) el HOTS =
ol _on 9 [ 1 39. If3°=5"=152 , then prove that
29. Rationalise the denominator of . . c= Zab .
32-243 b-a
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o
=)

SR I3 .3 2 .2
Express 0.6+0.7+0.47 in the form *‘2, where p 48, Simplify u;”ﬁ ’ L/iib%;b .
, i V@2 +b2 +b a2 —p?
and g are integers and g # 0.
43. Evaluate: 5

_ 49, If = \/—5— =+5a+b, find g and b.
1 1 L AT V5
V241 B4z Ja+3 T Joids

24345

4 50. If x= 1 & and y = _bl_\/:y find the value of
1 3 7443
42, If a=8+37 and b=—, then what will be the 3 i
# x+y
§ = value of a® + b*? [NCERT Exemplar]
43. If x=(2+5)"2 +(5-2)2 and
sl 172 1/2 2 2
y=Q2+ \/E) i (‘/g ~2)" thenevaluatex Y. 51. Once a teacher gave students two numbers
44. Simplify the following into a fraction with rational 1 and 1 to find the value of sum
. 1 34242 3-242
denominator, .
546 -11 of their squares, the resulting value of sum of
o e ’ squares of number will be equal to toffees given
45. Simplify to student who solved it first correctly. Student
912 +391 4gl3 41549 414, 413 who got toffees, distributed to all students, What
15, o14 13 15, ,14 .13 values of teacher and students are showing in this
397 +9% -9 247 +4% -4 question?
46. Show that (29D 2 (5 (BH) )2 (c+a) > - . 52, Ram's fagxer once asked him, ‘Can you write
(x"x"x)* » 047in = form a5 47 ? He answered, ‘No it is
47, If 26 - V5 =a+b+/30, find the values of g and b, = - Is he correct? Justify his answer, Which value
Va5 -4 99

of Ram depicted?

=====================================================================================================================

51. 34, Teacher is encouraging students and student shows sharing nature

= 1 : :
{ 1.Rational 2, Positive 3. %7_, 4. (i) J§;\f2_ (i) 2-v3 5.26 6 3152 7.70 8.1
5 27 1 3 32768 5
s D<) = = 13. 04142 14, - =7
| 9-0.15015001500015.. 10.2 11.() - (i = 1% 4 Seo3e 15.-4 16.x=7 E
| 18.3 19. x=5 20.0.61010010001... and 0.61101001.. 213 23. 0.837 26.343 i
s B8 8179 - g
P27, =423 2032 +243 30, =2 31.2063 33.1 36. 95 38.() a=0,b="2 :
; 412 495 3 |
) a=0,b=L 40,917 435 42254 43 405 4q, 5V6+6V5+4330 4%, 218 :
; 11 495 - 60 1757 ;
H > .:
E 3 4 !l_ a=_.8_, b:ll_g_ i
? 47. a =77—,b=2—1- 48. az 49, 41' 41 50. 2702 E

52. Yes, he is correct; curiosity and awareness.

.....................................................................................................................
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10.
11.
12.
13.
14.

15.

16.
17.

18.
19.
20.

21.
22,

23.

24.
25,
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Practice Exercige
for sure HUCCESS...

Find the value of polynomial 4x* — 5x + 9, when * = —

Find the coefficient of y in the expansion of 2y- 3)°.
Find the zeros of the polynomial p(x) = 4x* — 25.

If 49x2 -b= (7x + i—)(?x - i—), then find the value of b.

1
If p(x) is a polynomial such that p il 0, then find one factor of p(x).
What is the remainder when p(x) is divided by ax - b?
If p(x) = x° —-Z\Ex +1, then find the value of p(2‘\/5 )

Find the value of the polynomial x* — 9 for x = 97. [NCERT Exemplar]
Find the common factor in the quadratic polynomial x* + 8x + 15 and x* + 3x — 10.

[NCERT Exemplar]
Write the degree of the polynomial V2. ~ [NCERT Exemplar]
Given f(x) = 22 + 6x* —2x + 9, find f(—=1).
If y + 1 is a factor of y3 + p, then write the value of p. [NCERT Exemplar]
Write the coefficient of x in the expansion of (x + 3)°. [NCERT Exemplar]
If (x + 1) is a factor of p(x) = x5+ 267 4 b then find the value of P- [NCERT Exemplar]
If x +=31; =5, then find the value of x*+ “]%5 . [NCERT Exemplar]

If x'° = 199 is divided by x — 1, then find the remainder.
1
What is the value of p if x +E is a factor of px” — 4px + 3?

If y* - 2y- p (y—8) (y +6) for all y, then find the value of p.
If 4° + 7x* — 3% — 6 is divided by x + 1, then find quotxent

By remainder theorem, find the remainder when 3x* — 4x” - 3x — 1 is divided by x+2.
9 2
If a2+—2—=31, what is the value of a—;? : [HOTS]
a 5
Find the value of 4x° + 9y2, if2x+3y=18and xy =5. [HOTS]

L 1r g 2
Evaluate (27) 3(27) 3 [273 —273]-

Factorise 27x4 + 343x.

If (x + 3) divides p(x) = £ +ax’+7 and q(x) = X —dx+ a, the remainder in each case is same.
Find the value of 4. : [HOTS]




. Expand the following using suitable identity:

2 3 3
o] ()

7. If (x—1) is a factor of the polynomial

( px) = 3x* — 4x> — ax + 2, then find the value of ‘a’
) Find p(0), p(1) and p(-2) for following
polynomials:

(i) plr) = 10x— 4x" = 3 (i) p(y) = (y + 2) (y - 2)

. “For what value of m is x° — 2mx? + 16 divisible by
x+20° [NCERT Exemplar]

(A,’qu:tqrise. a’ NI [NCERT Exemplar]

What must be added to 2x° — 4x+ 9 to get
5%° — 132

: Fmd the value of polynomlal p(x) 8% — 6x° —

] 4 4x+ 3, when () x=2 2 (i) x=
u] | 3. Without actually calculating the cubes, find the
valueof
r = =
) (1 -1)3(1.13(11)3
r] —X==y| H =y-——z| +|—z—=x| .
q 2 3 LS 4 4 2 ) [Hors]
1 . Factorise x3 +3x% +3x-7.
. Find y +— andy +=—-,1fy—=l-=9u
o y? y* y

’ . 36. Ifx-3y-2z=0, then prove that

;! 2 3 g2 '

, B Ay b s [HOTS]

Yz zx  xy
9-2/3x—x?
37. Simplify by factonsatlon method ———— -
%

: ~38. Find the product

1 1 1
(Za 2 ——)(zcz 5 —1-)(4@2 + —-5](16514 b J
2a 2a 43 16a

[HOTS]

39. Using identities, evaluate:
(1) 88 x 112 (ii) (103)°

40.

41.

42,

43.

44,

45,

46.

47.
48.

49.

50.

51

52.
53.

54.

POLYNOMIALS |51|

Find the values of 2 and b so that (z +1) and
(z—1) are factors of z* + az® + 222 - 32 +b.

W xthout actual division, prove that Zx ~5%°

+2x —x+2s exactly divisible by X —3x+2.
[NCERT Exemplar]

Expression x° + px2 — X + g is completely divided
by (x + 1) and (x + 2). Find the values of pandg.

Factorise 1° (s— t)3+ 53(t - r)3+ t3(r — 5)3,,
(x3 __.y3)3 +(y3 '—23)3 +(Z3 __x3)3

(x=yP +(y-2) +(z-x)

Simplify

If x? +.—lizls, then find the value of x° ==—1—3=,
x x

1
using only positive value of x——,
x

Using identity, evaluate
2.8%2.8x2.8-1.8x1.8x1.8
2.8%x28+2.8x1.8+1.8x1.8

[NCERT Exemplar]

Find o and B, if (x + 1) and (x + 2) are factors of
* + 35 = 200+ B.

abs,
3:3’—4-=-.7c+4x2
x2+3x—4

Factorise @’ —

Simplify: (i)

@) (@ -b2) +(b2 ~ 2P (P -
(a—b)3 +(b—c)3 +(c—a)3

When f(x) = -’ 867 - ax + b is divided by
x—1and x + 1, we get remainder as 10 and 16
respectively. Find the remainder if f(x) is divided
byx-4.

Find value of p’ and ‘g if (a2 - 4) is factor of pa4
+2a° - 322+ qa—4.

Factorise 2x° — 3%° - 17x + 30.

Multiply °+ 4y S5 4 2xy +xz— 2yz by
(~z+x-2y).

Given a polynomial p(x) = x* — 5x + 4.
(i) Find the value of the polynomial p(x) at x = 2.
(ii) Check whether 3 is a factor of p(x).

(iii) Factorise p(x).
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57.

58.

59.

27.a=

38, 256a° -

48.a(a - b) (a + b) (@*

55.a=

The polynomial ax’ +3x" —3and 2x° — 5x +a
when divided by x — 4 leave the same remainder
in each case. Find the value of a.

Prove that 2x° + 2y3 e — 6xyz=(x+y+2)
[(z —y)2 +(y— z)2 +(z—- x)Z], hence evaluate
2(7)° +2(9)° + 2(13)° - 6(7) (9) (13).

Find the value of ‘@’ if (x — a) is a fa«;tor2 of
©—a? +2x+ra+ 3, hence factorise x“ ~ 2ax - 3.

1
If 22 +=2—=11,ﬁndthevalue of 2° ——3» using
Z z

1
only the positive value of 2 - e

Provethat(a+b+c)=—a3—=b3—=c3=3(a+b)

60.

61.

A fruitseller had 94 baskets of apples and each
basket had 106 apples. Find total number of
apples in 94 baskets. He found that about 18
apples are rotten in each basket so he charged
amount from customers for good apples only.
What value of fruitseller is depicted in this
question?

Two friends started a business together.

They decided profit in the share of their capital
mvested If both invested together

4 (6x + 11x — 35), find their shares
individually. Which mathematical concept
is used in this question? What values are

- showing in this question?

=======================================================================================================================

(b+0) (c+a). [NCERT Exemplar]
5 -5 1 1
| 2.54 3. 273 4. 5. x+§

9 2
24.x(3x+7) (9% - 21x+49) 25.a=-5 26. (u)i+

1. 28. (i) p(0) =-3, p(1) = 3, p(-2)

25608

+4c?

=-39 (i) p(0) =4, p(1) =- 3, p(-2) =
2 L1 , ) - D
30. (a—2b)(a® +2ab+2b%) 31 33 +4x—22 32.() 1242-9 (i) =

1
33. 3(

._X__]; l &lz E'_Z_:_L.X XZ . - :
2 3)’ 3)’ 2 2°73 34. (x-1)(x" + 4x + 7) 35. (i) 83 (ii) 6887 37.

1 56.1624 57.a=-1and (x+ 3) (x— 1) are factors

3
+§%é:bc 6ca (") I 9y~+¥—

b : , :
6. P(") 7.1 8.9400 9.x+5 10.0 11.15 12.1
13 27 14. 1 15.23 16.-198 17.-4/3 18.48 19.4x°+3x-6 20.85 21 5 22.264 23.

O 29.m=1

x+3\/§
x+3

39. (i) 9856 (i) 1092727 40.a=3,b=-3 42.p=2,q=-2 43.3rst(s—1)(t-1) (r-5)
44.0C+y’ +30) (P + 2 +y2) P+ +2x) 45.76 46.1 47.0=-1B=0

—ab+b% (@ +b*+ab) 49.() (x+1) (i) (@+b)(b+c) (c+a) 50.a=-1,b=4: 136
51L.p=landg=-8 52. (x-2)(x+3)(2x~5) 53.X-8/-7-6yz 54.()-2 (i)No (i) (x-4) (x-1)

58.36 60. 9964, honesty 61.(2x+ 7) and
(3x = 5); middle term splitting; cooperation, proper sharing in profit and mutual understanding.

__________________________________________________________________________________________________________________________________________________
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] 13.

14.

’ B\

14.

. Iftwo ordered pairs (x, 3) and (- 4, ;/) are equ

15.
16.

17.

Practice Exercige
for sure ud UCCESS...

» then find the value of x and .

[NCERT Exemplar]
. Write the abscissa of all the points lie on Y-axis. INCERT Evereprdac?
. Write the quadrant in which point (-3, 3) lies. [NCERT Exemplar]

. Write the equation of the graph X'OX.
. Write the equation of the graph Y'OY.

. On plotting the points O(0, 0), A(3, 0), B(3, 4), C(0, 4) and joining OA, AB, BC and CO,

name the figure which is obtained.

. Find the perpendicular distance of the point P(3, 4) from Y-axis,
. If perpendicular distance of a point from the X-axis be 8 units along the negative direction

of Y-axis, then find the ordinate of point P.

. Find the distance of the point P (4, 3) from the origin.
. - Find the area of the figure obtained on joining points L (0, 4), M (4, 4)’,N (4,0) and O(0, 0).

. [NCERT Exemplar]

- Name the quadrant in which a point will lie, if both of whose coordinates are negative.

-1
. Write the coordinate of a point whose ordinate is —2* and abscissais 1. [NCERT Exemplar]

In figure, ABCD is a square with each side 6 cm, O is the mid-point of AB. Find the
coordinate of A, B, C, D.

[HOTs]

X'«

A o B X

\A

Which of the following points lies on X-axis? Which on Y-axis?

A(0,2), B(5,6), C(=3,0), D(0.-3), E(0, 4), E(6,0).G(3 Q)
jde R NS e s =

e

XA o8 X

X %
Which of the following points lies on X-axis? Which on Y—Sms.
A(O’ 2)) B (57 6): C(’_3a 0)’ D (07 —3): E(O, 4)7 F?(6a 0)1 G (3¢ )
In which quadrant do the follow)ing points lie? Pt S

- b) (-1,7 ~2 :

i’ai)oizti'le 1p)oints A(0, 3),( B)(S, 3), C(4, 0) and D(~1, 0) on the graph ;;aper. Identify the figure
ABCD and find whether the point (2, 2) lies inside the figure or r§ot. b it
Plot the points A (-3, 3), B(3,-3),C (3, 3), D(-3, 3) in the cartesian plane. ,’
length of line segment AB.
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18.

18.

20.

21

25.

26.

27.

28.

29.

30.

: ot e G R BRI

The length of perpendiculars PM and PN drawn
from a point P, on X-axis and Y-axis are of 3 and 2
units. Find the coordinates of points B, M and N.

[HOTS]
(;3>0),(—_3,3\LO,EJ,Liﬁ)and(
2 2 Jy 2z jl2

o)
Join them and name the figure.

Locate the points P (2, 4), Q(7, 4), R(7, 6) and
S(2, 6) on graph paper. Join them and name the
figure so formed.

Plot the points

LSS

If the perpendicular distance of a point P from the
X-axis is 5 units and the foot of the perpendicular
lies on the negative direction of X-axis, find the
y-coordinate of point P.

If the points (=3, a) and (b, 4) lie on the straight
line with equation y = 4x, find the value of 2 and b.
If the point (3, 4) lies on the graph of the
equation 3y = ax + 7, find the value of a.

Does the point (-3, -3) lie on the line x = y?
Justify your answer. :
If the coordinates of the two points are A(-2, 5)

and B (-7, 8), then find (abscissa of B) — (abscissa
of A).

The distance of a point from X-axis is 3 units and
from Y-axis is 5 units. If the point lies in third
quadrant, find the coordinates of the point.

Plot the point P (4, —6) and from it draw PM

and PN perpendicular to X-axis and Y-axis
respectively and find the coordinates of points M
and N.

Plot the points P (-2, 1), Q(2, 1), R(3, 2) and
S (-1, 2) and write the name of the figure thus
obtained.

Plot the points (-3, 0), (5, 0) and (0, 4) on
cartesian plane. Name the figure formed by
joining these points and find its area.

A point lies on the X-axis at a distance 5 units
from Y-axis on the right of the origin. What are
its coordinates? What will be the coordinates if

it lies on the Y-axis at a distance of 5 units from
X-axis below the origin? If joining these points in
both condition, then find the distance between
them. [HOTS]

Soabodoe

32.

36.

37.

39.

40.

- Draw the quadrilateral with vertices (—4, 4),

Find coordinates of the point: [HOTS] |
(i) which lies on both the axes. |
(ii) whose abscissa is —4 and lies on X-axis.

(iii) whose ordinate is 5 and lies on Y-axis.

Plot the point P(2, —6) on the graph paper and

from it draw PM and PN perpendiculars to

X-axis and Y-axis. Write the coordinates of the

point M and N. Also find the distance between

them. [HOTS]

Plot the points A(4, 0) and B (0, 4). Join A, B to the

origin O. Find the area of AAOB. [HOTS]

Plot the points P(2, 0), Q(5, 0) and S(2, 3). Find
the coordinates of the points R such that PQRS is
square.

Three vertices of rectangle are (-1, 1), (5, 1) and
(5, 3). Plot these points and find the coordinates
of the fourth vertex.

Find some ordered pairs (x, y) such that

%+ 3y =6, and plot them. How many such
ordered pairs can be plotted and found?

Write the coordinate of the vertices of a square
whose each side is 5 units, one vertex at (2,1) and
all the vertex lie in the same quadrant. Also write
the name of quadrant.

(=6, 0), (=4, —4), (=2, 0). Name the type of
quadrilateral and find its area

On Independence day, a teacher marked four
points O(0, 0), A(6, 0), B(6, 5) and C(0, 5) on the
ground. He said students to decorate boundary
formed by joining these points with the flowers to
make a beautiful stage. What shape is obtained?
What values of a teacher and students are
depicting in this question? -

On New Year, students of a school thought to
make New Year cards to give teachers and their
parents. They decorate a figure on the cards
which is formed by joining the points (—4, 4),
(=6, 0), (~4,—4) and (-2, 0). Find the area and
perimeter of figure so obtained. Mention the
values of students in this question.
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7.(7.1), (7, 6), (2, 6); I quadrant 38. Rhombus; 16 sq. units

‘ints of Selected Questions

9. d=v42+32=416+9 =x/5§=5 sq. units
_ 10. Area of figure = Area of square

= (4)2 =16 sq. units.
16. By plotting the point (2, 2) on graph paper,

we will check whether this point lie in the
figure or not.

17. Length of AB = |-3| +|3| =3 + 3 = 6 units
18. ¥4

N(0, 3} P(2, 3)
3

Xs Mz 0 X

o

................................................................

21.

22.

29.
30.

32.

38.

COORDINATE GEOMETRY |81|

1@ 16 sq. units  11. T Quadrant 12. (1 5 13. A(-3,0), B(3,0), C(3,6) and D(-3, 6) 14.On X-axis C,

F G and Y-axis, A D,E 15. (a) IV Quadrant (b) II Quadrant (c) Il Quadrant (d) I Quadrant 16. Parallelogram, :
;;(2 2) lies inside the figure 17. 6 units 18. P(2, 3), M(2,0), N(0, 3) 19. Pentagon 20. Rectangle

5

1.50r-5 22.0=-12,b=1 23.0=3 24.Yes 25.-5 26.(-5-3) 27.M(4 0,N(O, -6

iog, ParaHelogram 29. Triangle; 16 sqg. units ~ 30. (5, 0), (0, -5); 5\[vun|ts 31. (i) (0, 0) (ii) (-4, 0) (iii) (0, 5)
3. M(2, 0), N(0, -6); 2,/10 units 33.8 sq. units 34.(5,3) 35.(-1,3) 36.Infinitely many, (0, 2). (6,0), 3, 1)

9. Rectangle; teacher wants to clear the concept of coordinate and unite the students; Students show their
ooperation 40. 16 sg. units; 1242 units; creative work and way to show respect and honour.

Area of AAOB:%xOAxOB:%xlixA,

= 8 sq. units
At point (=3, a);
a=4(-3) = a=-12
At point (b, 4);
4=4xb = b=1

Area of triangle = %x 8x 4 =16 5q. units

Distance between the points

=62 + B =425+25 5Jiunlts

Distance between the points
=\]62 494 =+/36+4 =J16=2J£5units
- 1 1
Area of rhombus =-2-><dl x d, =EX4X8

=16 sq. units

SWERS ............................................ SE— S— S i e e RO R A S e R T
,11 x=—4,y=3 2.0 3.0Quadrant 4.y=0 5.x=0 6. Rectangle 7.3 8.-8 9.5units
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~§ [EST YOURSELF

Time: 2 hrs. ’ Max. Marks: 50

1. Check whether the equation x(x — 2) — 2x + y+8=0is a linear equation or not.

2. Write the equation y = 3 in the standard form of linear equation in two variables.

3. Write the equation % X—-y= g in the form of ax + by +c=0. Also find the values of @, b and c.

4. How many solution(s) of the linear equation ¥ =5x+ 8 has?

5. Ifthe point (2, -1) lies on 2x + ky =3, then find the value of .

6. Which of the following is a solution of the equation 2x — 3y = 52
0)(-2-3) () (46) |

7. At what point the graph of the linear equation —2x + y = 10 cuts the Y-axis?

8. Write any two solutions of 3x — 2y = 6.

9. Draw the graph of the equation x + 3y = 15. From the graph, find the value of y, when x = 3.

10. Give the geometric representation of y = _31 as equation in one variable, ;
2 .

11. Give the geometric representation of x = 6 as an equation;

(i) in one variable  (ii) in two variables -

12, Find the value of k, so that (1, —1)is the solution of 2x + ky = 19. Find two IillOl‘C solutions of

the given equation.

13. Draw the graph of the equation -95=C-+ % =1. Also, find the area of the triangle formed by

the line and the coordinate axes.
14.  How many solution(s) of the linear equation 2y + 3 =5y — 8 are there on the:
(i) Number line (i) Cartesian plane

15. Draw a triangle whose sides are represented by x=0, y =0 and x + y = 8 in the cartesian plane,

Also find the coordinates of the vertices.
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§14. (i) Only one solution (ii) Infinitely many solutions  15. (0, 8), (0, 0), (8, 0) 16. 4 sq. units 17. % 7500
118.x -3y =0 and 2x -5y —15=0;45yrs, 15yrs 19. Infinitely many solutions, (0, —15)
520. (i) y = 2x (i) 100 (iii) Sense of sharing, patriotism, cooperation.

B o o 0 2 2 e 2 2 e e e e e D D e e P 8 e e e o e 1 2 e 4 2 B o 4

6.

17.

18.

19.

20,

-3
6. (i) Yes (i) No 7.(0,10) 8.(0,-3), (1—J 9.y=4 12.k=-17, (

Draw the graph of the following equations on the same graph paper: x— y=0,x+y =0,

y=0and x = 2. Also, find the area enclosed between these lines.

The cost of a calculator is ¥ 500. Write a linear equation, when the cost of x calculators is ¥ y. Draw the graph of

this equation. Also find the cost of 15 such calculators from the graph.

I am three times as old as my daughter. 5 years later, I shall be two and half times as old as my daughter. Taking

my age as x years and age of my daughter as y years. Write the linear equations so formed. Draw graph and find

the ages of both.

1 3
Draw the graph of the equation . (y-5)+6= g( ¥ +5)+2 on the cartesian plane. Explain the number of

.
4

solution(s) and find the coordinate of point where graph cuts the Y-axis.

On Independence day, Jogeshwar distributed ladoos in worker’s colony. He distributed 2 ladoos to each. Taking

number of workers as x and total ladoos distributed as y.
(i) Form a linear equation.
(ii) From graph, find number of workers if he distributed 200 laddos.

(iii) What value is depicted by Jogeshwar in this ciuestion?

2 7 2 ’ - :
1.Not 2.0x+y-3=0 3. —xmy—§=0,a=§,b=—1,c=l 4. Infinite solutions 5.k=1

3 5

0,228

] e 11_1' ° . i
2 7 } (L.-1) 13,25 sq. units
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